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MAT 255 (T2)

Issue 1

Answer Vey

115

300

50

500

. 2in (A) & 3in (B) & 4in (C) & 3 in (D)
. 3in(A)&2in (B) & 2in (C) & 3in (D)

5in (A) & 2in (B) & 4 in (C) & 3 in (D)

. 4in (A) & 3in (B) & 2in (C) & 5 in (D)

2in (A) & 3in (B) & 3 in (C) & 2 in (D)

. 1/3
. 8/3
. 5/4

23/5

. 23/3

. 37/5

. 411/25
. 53/20
. 616/25

79/20

.42

-9_

32.

42000

. 1/64

. 3.1/7
. 1o2/7
. 2/5

. 7/20

. 3..4/7
. 3..1/8
. 1..3/8
. 3..4/5
. 2.5/8

2/5

. 20x3-12-15=[33

4412 1
8 _

=12=17/24

— 44 X _
3

. 64

5:10 A.M. - 9:40 P.M.

= 5:10 - 9:40 + 12:00 (next day)
=17:10 - 9:40

=17:30

=7 hr & 30 min

3_9 12

7 21 28

9428 =

.93
. % =5/8
. 72000+6 + 600+2 + 90020

= 12000+300+45

- 2349

. 36+4=9

9+3 = 3 in (each side of a square)

3X3x5 =
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60.

61.

62.
63.

D
20 + V2(40) = 30
5 G

10 sq. in.

20 sq. in.

C
100+0.8 = 125
125-100 =
9

13 - 5 = 8 (length)
8-2-2 =4 (width)
8X4 = 32 m? (area)

MAT 255 (T2)

64.

65.

A 66.

67.

68.

69.

70.

-10 -

Issue 1

150

30% - 12% = 18Ys = 18 1/8 pounds
Let x be the number of students.
3x +5=4x-21

x =26

60+4 =15

15%3 =

14:15 - 8:55 = 5:20

(5 hr 20 min)+4 = |1 hr & 20 mi
90+73+80 = 243

243+3 =

85X4 = 340

340 - 243 =
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23. .008
24. .0008
25. .01

27. 25
28. 9
29. 1
30. 7

MAT 255 (T2)

-9_
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Issue 2

Answer Vey

. 11/28

LCD =28
5/12
LCD =12
5/24
LCD =24
9/20
LCD =20

. 17/144

LCD = 144

. 3x18-25=]
7 p—

L =7/24

.2

. 1hr & 30 min

. 2=9/14

. 240000

70

. 240

3200+5% =

. C

The area of the shaded region is 15 square inches,
which

% + % = g of the area of ABCD.
So, the area(ABCD) = 24 square inches.




56.

57.

58.

59.

60.
61.

Issue 2
.5
11422 =57
285+57 =
5-4=1
1+4 ="
60x /s =[15
300 - 60 = 240
240+5 =[$48.00
2 |24 o4
2 |12 32
216 16
3 8
2x2x2 =g
5in (A) & 2in (B) & 6 in (C) & 2 in (D)
4in (A) & 3in (B) & 2 in (C) & 5 in (D)
3in (A) & 5in (B) & 3 in (C) & 4 in (D)
4in (A) & 2in (B) & 2 in (C) & 7 in (D)

MAT 255 (T2)
There are 4 gitls and 3 boys. From Alan’s eyes, 62
there are 2 boys, so the girls are twice the number
of the boys. From Betty’s eyes, there 3 gitls, so
there are the same number of girls and boys. 3 + 4 63
= :
11.50 - 2%3.50 = 4.50
4.50 + 3 =$1.50
J 64.
20%20x%2 - 10x10
=800 - 100
=
800 = 2x400
400 = 20%20
radius = 20
2X20 = 40 cm (diameter) 65.
1%4x4x3 = 21 hours
4x10 = 2.5 06.
2.5+225=475 67.
10-4.75 = 68.
69.
70.

-10 -

3in (A) & 4in (B) & 3 in (C) & 2 in (D)
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600

70

700

300

1/16
.008

. 1/2
. 2/5
. 1/8
. 2/3
. 2/5
. 1/2

MAT 255 (T2)

Issuc 3

Answer Vey

32.
.7

-1 -

6

8/125

. 1/32
. 3.4/9

1/3

. 1.5/7

. 7/20

. 8/25

. 2.5/8

. 5/7

. 9/10

. 3.4/9

. 3.7/8
.15

. 100-98 +66-64+2=6
.5

LB =13/15

102 =105/24

. 286
. 25
. 12=4X3

15=5X%3

The least common multiple is 3X4X5 =

1-75% = 25%

200%25% =

. 20XYs =4
20 + 4 = 524
. 6:15 P.M. - 6:30 A.M.

=18:15 - 6:30

=[1%=113/4h

. 330+40 = 8R10

boxes

. D

1 square yard = 9 sq. ft.

. 80
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MAT 255 (T2)

60. There are two methods to find the radius. 75.

Method I)

60+2 = 30 76.

30 = 10 + 20

radius = 10

AB =20 -

Method II) '

21+2)=6

60+6 = 10 (radius)

1021 = 100% = 314 78.

2X314 = 79.
61. $95 80.
62. 3%0.8 + 2%0.95 + 2.5

=24+19+25 31.

=68

10- 6.8 = $3.20 82.
63. 64 = 8x8

4x8 =
64. 12 (cups) 83.
65. 3.50-0.25 = 84.
66. $=3/2 85.
67. 2=2/5
68. Va=1/4
69. A=12 86.
70. $x24 =9 87.
71. 0.06 88.
72. 18 89.
73. 500 90.
74. 1202 = 60

60+3 = 20 (width)
20%2 = 40 (length)
20+2 = 10 (radius)
102n = 314

2X314 = 628 (two circles)

2040 = 800
800 - 628 =

-12 -

Issue 3

10 - 6 = 4 (height)
4X6 = 24 in?
60=2 =30
30-20=10
20x10 =
12%25000

= 3X4%x25000

= 3%100000

- o000

B
3.25

120+12 = 10

2(12 + 10) =
40x12.25 = 490
195+32Y5
=195+32.5

-
360+60 =
20X3x2 = $120

18

1+2+3+4+6+12

=28

2in (A) & 3in (B) & 2in (C) & 5 in (D)
2in (A) & 5 in (B) & 4in (C) & 3 in (D)
3in (A) & 2in (B) & 8 in (C) & 3 in (D)
5in (A) & 3in (B) & 6 in (C) & 5 in (D)
4in (A) & 3in (B) & 5 in (C) & 4 in (D)
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1,2, 3,4, 6,and 12 are the factors of 12. Their sum



